OS YEK-TNCT

MATEMATUKA

PeweHwve 3a4a4 c NnpuyKnagHbiM cogep>XaHuem.
YacTtb 1,2.

Ans BbinonHeHUs 10 Homepa He06xoAMMO 3HaTb GpOPMYJibl COKPALLEHHOTO
YMHOXEHMS:

a’— b?>=(a—-b)(a+b)
(a + b)? = a* + 2ab + b?
(a —b)? = a? — 2ab + b?
a® + b3 = (a+b)(a*—ab + b?)
a®>—b3=(a—Db)(a*+ab +b?
(a+b) =a3+3a’b +3ab?*+ b3
(a —b)® =a®—-3a*bh +3ab?* - b3
CBoiicTBa norapu¢dmoB: CBoiAcTBa cTeneHei:
|Oga X=b <> X:ab, a> O, az at-a" =a""
1.log,1=0
2.a%"=x,x>0
3.log.a=1 ( a" )“ — "
b _
4, |Ogaa =b a"-b" = (ab)"
5. log.xy =log,[x| +log,|y|
6. log,x/y = log,|x| +log,|y]
CBoiCTBa KopHei:

1. ¥ab =a 4

2.

, (ecau k <0, mo a #0)
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a=- i{/; (npu n- HewemHom)
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